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T 5 R R # 3 F
HR3—2 BEYIERTILEESNIERICESLIEE BEEE SIR2AGE)E
% P D) fi B| ERES A101002 | ERs - HTOROKR | FiEM ARG AEHAIH B3
HEETRARE S TARFRDEESHh(m) TEROFRARAFDKN/m?) | BEVOM HP2N/m2) | #EETIHRES TERROEShM) | TAFROFAAFDKN/m?) | BEYOM FIP2(kN/m2)
No.0 0.74 27.88 9.71
No. 1 0.60 16.92 13.62
No.2 0.48 14.82 14.13
No.3 0.40 11.24 16.92
No.4 0.35 9.25 18.85
No.5 0.33 7.70 20.10
No.6 0.32 6.86 20.82
No.7 0.30 7.62 21.74
No.8 0.31 7.21 21.32
No.9 0.31 6.37 21.24
No.10 0.30 5.90 21.65
No.11 0.30 5.69 21.83
No.12 0.29 4.46 22.78
No.13 0.28 2.65 23.14
No.14 0.29 2.00 22.39
No.15 0.29 1.93 22.25
No.16 0.30 1.80 21.97
No.17 0.62 0.40 13.20
No.18 0.00 0.00 0.00
No.19 0.00 0.00 0.00




